F20ART A IRV UIRDT
2017438158 (k) ~16H (K)
Rl BEA—T >

TS5 L — vy av AL LT—TIL —

A= B= C=E D=
R - 311 o) - 313 e (AR5 - 411 e (4R - 413
38158 (k)
1A 1B 1C 1D
13:15~15:15 EEEUE A HEFEERET Eard HTaky b
B[R]
REE
2A 2B 20 2D
15:30~18:00 oKy b 2EE Eard RITARY b &
BOUEHTE E{RAIE] ] B
A1 - B
19:00~21:00 [ 7% (2’[‘%) )
a2 *T—nN—FA bvay
21:30~23:00 [ 2% (B ]
38168 (K)
3A 3B 3C 3D
8:30~10:00 | £EXIE - &2l | EF - THEE Eave IRIEERE
BRI ]
AEE
4A 4B 4C 4D
10:15~11:45 | &£FXRE - 2l | v=EalL—Yay wsaoRy b TO9Fa1I—~A
BRE&
5A 5B 5C 5D
12:45~14:15 | EXRAOARy ] | AEREOKRY b ETILIEE BHOKRY R
12 BN il £
N
6A 6B 6C 6D
14:30~16:00 | EERAORY I oy HEOHEITEEM | BEnARy ~I

NAAaRTA4IR




